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Fiber 680, dchi2frac= 1.0
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Fiber 4539, dchi2frac= 1.0
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Fiber 2903, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2.02.53.03.54.04.55.05.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2.02.53.03.54.04.55.05.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.20.10.00.10.20.30.40.5

Fiber 4134, dchi2frac= 1.0
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Fiber 862, dchi2frac= 1.0
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Fiber 2339, dchi2frac= 1.0
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Fiber 739, dchi2frac= 1.0
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Fiber 432, dchi2frac= 1.0
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Fiber 4735, dchi2frac= 1.0
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Fiber 2743, dchi2frac= 1.0
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Fiber 4584, dchi2frac= 1.0
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Fiber 801, dchi2frac= 1.0
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Fiber 2018, dchi2frac= 1.0
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Fiber 1143, dchi2frac= 1.0
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Fiber 2281, dchi2frac= 1.0
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Fiber 4640, dchi2frac= 1.0
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Fiber 2785, dchi2frac= 1.0
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Fiber 2194, dchi2frac= 0.9
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Fiber 4664, dchi2frac= 1.0
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Fiber 4391, dchi2frac= 1.0
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Fiber 2192, dchi2frac= 1.0
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Fiber 50, dchi2frac= 1.0
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Fiber 1015, dchi2frac= 1.0
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Fiber 590, dchi2frac= 1.0
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Fiber 2149, dchi2frac= 1.0
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Fiber 2886, dchi2frac= 1.0
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Fiber 4170, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2 3 4 5 6 7 8

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0 1 2 3 4 5

Fiber 1156, dchi2frac= 0.9
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Fiber 1359, dchi2frac= 0.9
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Fiber 353, dchi2frac= 1.0
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Fiber 2722, dchi2frac= 1.0
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Fiber 581, dchi2frac= 1.0
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Fiber 1266, dchi2frac= 1.0
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Fiber 4612, dchi2frac= 1.0
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Fiber 1211, dchi2frac= 1.0
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Fiber 4349, dchi2frac= 1.0
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Fiber 1365, dchi2frac= 1.0
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Fiber 4984, dchi2frac= 1.0
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Fiber 2210, dchi2frac= 1.0
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Fiber 2447, dchi2frac= 1.0
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Fiber 4774, dchi2frac= 1.0
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Fiber 1323, dchi2frac= 1.0
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Fiber 4422, dchi2frac= 1.0
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Fiber 4489, dchi2frac= 1.0
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Fiber 238, dchi2frac= 1.0
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Fiber 72, dchi2frac= 1.0
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Fiber 1078, dchi2frac= 1.0
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Fiber 1307, dchi2frac= 1.0
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Fiber 436, dchi2frac= 1.0
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Fiber 2001, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1 2 3 4

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1 2 3 4 5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.50.40.30.20.10.00.10.2

Fiber 2363, dchi2frac= 1.0
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Fiber 2313, dchi2frac= 1.0


